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3030 | 300 430 300 345 540 50 45
4040 | 400 540 400 455 640 55 55
4050 | 400 550 500 560 740 60 60
5050 | 500 650 500 560 740 60 60
6060 | 600 760 600 665 840 65 65
7070 | 700 860 700 770 940 65 70
8080 | 800 970 800 880 | 1040 70 80
9090 | 900 | 1070 | 900 990 | 1140 70 90
1010 | 1000 | 1180 | 1000 | 1095 | 1240 75 95

. ggbbggbobgobobugbobuobobuobn

g.uoogbtobouobobobuobobod

0 500 1,000 1,500 2,000
EEEE———S  aaS——— ()

obobdoobdobbugs=1:20004

oo

000 |(D00000000@Ooooboon)

0oooo 006040
00 00 [pooo| 91-02[04]
000

0ooo

odbuobogouooood



	91-02［04］
	レイアウト1


